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TATGTCCCAGTCATCG
AATTGTCAGCCGTTCA
CATCGAACAATTGTCA
ATCGGTCGATATGTCC
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= halt FALSE
vacciline set NULL

overlaps ' initialize P(t) with n random antibodies
\ ' calculate affinities

note the best antibody as A’
CATCGAACAATTGTCA current best = affinity(A')
AATTGTCAGCCGTTCA send A' to memory population

compactor compute

while (halt is not TRUE) do
try to receive halting signal

recelve vaccine and replace the oldest one
P'(t) = clone (P (t))

DNA sequencer

P" (t) = IMMUNE-GENETIC-OPERATION(P' (t))
conversion P(t+1l) = selection(P" (t)) »
find best antibody and update A \
ATCGGTCGATAT A' = MATURATION-OPERATION (A') \
1 send A' to memory population
GTCCCAGTCA —t o+ 1
— endwhile
initialize M(r)
29 q???(;tf(:]&(;(: calculate affinities
2 CONT'GS vaccine set V(r) = NULL
CGTTCA

ofstream fout; while (not halt) do
fout.open ("contigs.fasta"); receive A'i from each Pi

replace worse antibodies in M(r) Improved

fout << contigs[0] << "\n"; V(r+l) = extraction (M(r)) Inver-Over
dispatch (P1, ... , Pn) HGI’CITGCI

operator

M(r+l) = Lin-Kernighan

r - r + 1 o .
@ endwhile heU“ShC
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ATCGGTCGATATGTC—- contigs[0] = TOUR

CCAGTCATCGAACAA-
TTGTCAGCCGTTCA
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